1.

Find the mean deviation about the
mean for the data

38, 70, 48, 40, 42, 55, 63, 46, 54, 44

Ans)

The given data is
38, 70, 48, 40, 42, 55, 63, 46, 54, 44

Mean of the given data

5 38+70+48+40+42+55+63+46+54+44 _ 500
- 10 - 10

= 50

The deviations of the respective

observation from the mean

T,t.e.x; = T are

—12,20,—2, —10, —8,5,13, —4,4, —6
The absolute values of the
deviations i.e.|x; — Z| are

12, 20, 2,10, 8, 5,13,4,4,6

The required mean deviation
about the mean is

10 _
Zz'=1 | z; — Z|

M.D.=
10
_124+10+2+10+8+5+13+4+4+6
o 10
84
10

= 8.4



2.Find the mean deviation about the
mean for the data in

&; 10 30 50 70 90

f; 4 24 28 16 8

Ans) z f fizi—dm |z —7ZT,] f(zx—zy)

10 4 40 24.25 97
30 24 720 4.25 102
50 28 140 15.75 441
70 16 1120 35.75 572
90 8 720 55.75 446
N=80 2740 1658
2740
=2 3495
v 80
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3. Hnd the mean deviation about lhc mean for the data

 Class  |0-10 10-20 20-3030-10 40-50  50-60 |
| Frequency | 6 J & [ 14 | 16 4 | 2
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Wamy N= SO, a=28 5 h=\o
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NG,
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= L. 4 sqe
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= \0-571¢6.



